TITLE: 2017 STORM DAMAGE REPAIRS ON BRANSCOMB ROAD, CR 429, M.P. 21.50

CONTRACT NO. 170054

DISTRICT: 1

COUNTY: MENDOCINO ROUTE: 429

ADVERTISED DATE: March 29 & April 1, 2018 BID OPENING DATE: April 26, 2018

				Logging, Inc.	ENGINEER'S ESTIMATE		Mendocino Construction Services NO. 2		
NO	DESCRIPTION	I D III	OTT	UNIT	ANGUNE	UNIT	AMOUNT	UNIT	AMOUNT
NO.	DESCRIPTION	UNIT		PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
-	De tras de	1.0			ROAD, M.P. 21		#10.000.00	#2.500.00	#2.700.00
1	Mobilization	LS	1	\$5,800.00	\$5,800.00	\$10,000.00	\$10,000.00	\$3,500.00	\$3,500.00
2	Construction Area Signs	LS	1	\$2,500.00	\$2,500.00	\$2,000.00	\$2,000.00	\$1,000.00	\$1,000.00
3	Traffic Control	LS	1	\$7,500.00	\$7,500.00	\$5,000.00	\$5,000.00	\$8,000.00	\$8,000.00
4	Water Pollution Control	LS	1	\$850.00	\$850.00	\$3,000.00	\$3,000.00	\$2,350.00	\$2,350.00
5	Develop Water Supply	LS	1	\$1,000.00	\$1,000.00	\$5,000.00	\$5,000.00	\$1,500.00	\$1,500.00
6	Roadway Excavation	CY	23	\$100.00	\$2,300.00	\$120.00	\$2,760.00	\$256.00	\$5,888.00
7	RSP (1/2 Ton, Method A)	TON	120	\$88.00	\$10,560.00	\$200.00	\$24,000.00	\$95.00	\$11,400.00
8	RSP Fabric	SY	700	\$2.25	\$1,575.00	\$20.00	\$14,000.00	\$2.00	\$1,400.00
9	Class 2 Aggregate Base	TON	65	\$115.00	\$7,475.00	\$60.00	\$3,900.00	\$64.00	\$4,160.00
10	HMA (Type A)	TON	3	\$500.00	\$1,500.00	\$150.00	\$450.00	\$750.00	\$2,250.00
11	18" HDPE with Flared Inlet	LF	50	\$50.00	\$2,500.00	\$100.00	\$5,000.00	\$65.00	\$3,250.00
12	HMA Dike (Type D)	LF	8	\$200.00	\$1,600.00	\$20.00	\$160.00	\$100.00	\$800.00
13	MBGR (Wood Post)	LF	760	\$36.00	\$27,360.00	\$200.00	\$152,000.00	\$43.00	\$32,680.00
14	Terminal Section (SRT)	EA	1	\$4,200.00	\$4,200.00	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00
15	Delineators (Class 1, Type E)	EA	30	\$90.00	\$2,700.00	\$40.00	\$1,200.00	\$65.00	\$1,950.00
	Total: DBE Goal:				\$79,420.00 44.21%		\$232,470.00 2.09%		\$85,128.00 0.00%
☆	Corrected Amount								

TITLE: 2017 STORM DAMAGE REPAIRS ON BRANSCOMB ROAD, CR 429, M.P. 21.50

CONTRACT NO. 170054

DISTRICT:

COUNTY: MENDOCINO

ROUTE: 429

ADVERTISED DATE: March 29 & April 1, 2018 BID OPENING DATE: April 26, 2018

				Wylatti Resource Management		ENGINEER'S ESTIMATE		Gregg Simpson Trucking			
			N	O. 3			NO. 4				
				UNIT		UNIT		UNIT			
NO.	DESCRIPTION	UNIT	QTY.	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT		
	BRANSCOMB ROAD, M.P. 21.50										
1	Mobilization	LS	1	\$8,017.00	\$8,017.00	·	\$10,000.00	\$7,500.00	\$7,500.00		
2	Construction Area Signs	LS	1	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$3,500.00	\$3,500.00		
3	Traffic Control	LS	1	\$12,000.00	\$12,000.00	\$5,000.00	\$5,000.00	\$11,500.00	\$11,500.00		
4	Water Pollution Control	LS	1	\$1,800.00	\$1,800.00	\$3,000.00	\$3,000.00	\$4,300.00	\$4,300.00		
5	Develop Water Supply	LS	1	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00	\$2,500.00	\$2,500.00		
6	Roadway Excavation	CY	23	\$56.40	\$1,297.20	\$120.00	\$2,760.00	\$150.00	\$3,450.00		
7	RSP (1/2 Ton, Method A)	TON	120	\$112.80	\$13,536.00	\$200.00	\$24,000.00	\$150.00	\$18,000.00		
8	RSP Fabric	SY	700	\$5.00	\$3,500.00	\$20.00	\$14,000.00	\$7.00	\$4,900.00		
9	Class 2 Aggregate Base	TON	65	\$58.50	\$3,802.50	\$60.00	\$3,900.00	\$120.00	\$7,800.00		
10	HMA (Type A)	TON	3	\$450.00	\$1,350.00	\$150.00	\$450.00	\$300.00	\$900.00		
11	18" HDPE with Flared Inlet	LF	50	\$35.00	\$1,750.00	\$100.00	\$5,000.00	\$200.00	\$10,000.00		
12	HMA Dike (Type D)	LF	8	\$30.00	\$240.00	\$20.00	\$160.00	\$250.00	\$2,000.00		
13	MBGR (Wood Post)	LF	760	\$70.00	\$53,200.00	\$200.00	\$152,000.00	\$45.10	\$34,276.00		
14	Terminal Section (SRT)	EA	1	\$3,933.00	\$3,933.00	\$4,000.00	\$4,000.00	\$3,795.00	\$3,795.00		
15	Delineators (Class 1, Type E)	EA	30	\$20.00	\$600.00	\$40.00	\$1,200.00	\$60.00	\$1,800.00		
	Total: DBE Goal:				\$109,025.70 2.13%		\$232,470.00 2.09%		\$116,221.00 N/A		
☆	Corrected Amount										

TITLE: 2017 STORM DAMAGE REPAIRS ON BRANSCOMB ROAD, CR 429, M.P. 21.50

CONTRACT NO. 170054

DISTRICT:

COUNTY: MENDOCINO

ROUTE: 429

ADVERTISED DATE: March 29 & April 1, 2018 BID OPENING DATE: April 26, 2018

				Trinity River Construction,				Granite Construction Company			
				Inc.		ENGINEER'S ESTIMATE		1 1			
					O. 5			NO. 6			
				UNIT		UNIT		UNIT			
NO.	DESCRIPTION	UNIT	_	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT		
	BRANSCOMB ROAD, M.P. 21.50										
1	Mobilization	LS	1	\$35,000.00	\$35,000.00		\$10,000.00		\$13,500.00		
2	Construction Area Signs	LS	1	\$3,000.00	\$3,000.00	\$2,000.00	\$2,000.00		\$2,000.00		
3	Traffic Control	LS	1	\$10,800.00	\$10,800.00	\$5,000.00	\$5,000.00	\$27,650.00	\$27,650.00		
4	Water Pollution Control	LS	1	\$3,500.00	\$3,500.00	\$3,000.00	\$3,000.00	\$4,000.00	\$4,000.00		
5	Develop Water Supply	LS	1	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00	\$250.00	\$250.00		
6	Roadway Excavation	CY	23	\$100.00	\$2,300.00	\$120.00	\$2,760.00	\$280.00	\$6,440.00		
7	RSP (1/2 Ton, Method A)	TON	120	\$150.00	\$18,000.00	\$200.00	\$24,000.00	\$220.00	\$26,400.00		
8	RSP Fabric	SY	700	\$10.00	\$7,000.00	\$20.00	\$14,000.00	\$2.50	\$1,750.00		
9	Class 2 Aggregate Base	TON	65	\$100.00	\$6,500.00	\$60.00	\$3,900.00	\$150.00	\$9,750.00		
10	HMA (Type A)	TON	3	\$1,000.00	\$3,000.00	\$150.00	\$450.00	\$1,700.00	\$5,100.00		
11	18" HDPE with Flared Inlet	LF	50	\$150.00	\$7,500.00	\$100.00	\$5,000.00	\$135.00	\$6,750.00		
12	HMA Dike (Type D)	LF	8	\$100.00	\$800.00	\$20.00	\$160.00	\$75.00	\$600.00		
13	MBGR (Wood Post)	LF	760	\$40.00	\$30,400.00	\$200.00	\$152,000.00	\$40.00	\$30,400.00		
14	Terminal Section (SRT)	EA	1	\$3,200.00	\$3,200.00	\$4,000.00	\$4,000.00	\$3,200.00	\$3,200.00		
15	Delineators (Class 1, Type E)	EA	30	\$150.00	\$4,500.00	\$40.00	\$1,200.00	\$50.00	\$1,500.00		
	Total: DBE Goal:				\$137,500.00 N/A		\$232,470.00 2.09%		\$139,290.00 N/A		
☆	Corrected Amount										

TITLE: 2017 STORM DAMAGE REPAIRS ON BRANSCOMB ROAD, CR 429, M.P. 21.50

CONTRACT NO. 170054

DISTRICT:

COUNTY: MENDOCINO

ROUTE: 429

ADVERTISED DATE: March 29 & April 1, 2018 BID OPENING DATE: April 26, 2018

				Bouthillier's Construction, Inc.		ENGINEER'S ESTIMATE		Morgan Creek Construction	
			NO. 7				NO. 8		
				UNIT		UNIT		UNIT	
NO.	DESCRIPTION	UNIT	QTY.	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
			H	BRANSCOMB	ROAD, M.P. 21				
1	Mobilization	LS	1	\$10,000.00	\$10,000.00	\$10,000.00		\$16,000.00	
2	Construction Area Signs	LS	1	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00	\$3,500.00	\$3,500.00
3	Traffic Control	LS	1	\$15,000.00	\$15,000.00	\$5,000.00	\$5,000.00	\$55,200.00	\$55,200.00
4	Water Pollution Control	LS	1	\$2,500.00	\$2,500.00	\$3,000.00	\$3,000.00	\$7,500.00	\$7,500.00
5	Develop Water Supply	LS	1	\$2,500.00	\$2,500.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
6	Roadway Excavation	CY	23	\$50.00	\$1,150.00	\$120.00	\$2,760.00	\$2,500.00	\$57,500.00
7	RSP (1/2 Ton, Method A)	TON	120	\$130.00	\$15,600.00	\$200.00	\$24,000.00	\$400.00	\$48,000.00
8	RSP Fabric	SY	700	\$3.00	\$2,100.00	\$20.00	\$14,000.00	\$4.00	\$2,800.00
9	Class 2 Aggregate Base	TON	65	\$70.00	\$4,550.00	\$60.00	\$3,900.00	\$300.00	
10	HMA (Type A)	TON	3	\$500.00	\$1,500.00	\$150.00	\$450.00	\$2,400.00	<b>☆</b> \$7,200.00
11	18" HDPE with Flared Inlet	LF	50	\$150.00	\$7,500.00	\$100.00	\$5,000.00	\$150.00	\$7,500.00
12	HMA Dike (Type D)	LF	8	\$250.00	\$2,000.00	\$20.00	\$160.00	\$200.00	\$1,600.00
13	MBGR (Wood Post)	LF	760	\$100.00	\$76,000.00	\$200.00	\$152,000.00	\$70.00	\$53,200.00
14	Terminal Section (SRT)	EA	1	\$3,250.00	\$3,250.00	\$4,000.00	\$4,000.00	\$4,140.00	\$4,140.00
15	Delineators (Class 1, Type E)	EA	30	\$50.00	\$1,500.00	\$40.00	\$1,200.00	\$75.00	\$2,250.00
	Total:				\$150,150.00		\$232,470.00	,	\$290,890.00 ×
	DBE Goal:				\$130,130.00 N/A		\$232,470.00 2.09%		N/A
☆	Corrected Amount				N/A		2.09%		N/A
×	Corrected Amount								